SECTION 1
Time — 25 minutes
24 Questions

(1-24)

. o b 7 5 o 5 . . ~ % i : = 5 ..
Directions: For each question in this section, select the best answer from among the choices given and fill in the corresponding

circle on the answer sheet.

Each sentence below has one or two blanks, each blank
 indicating that something has been omitted. Beneath
the sentence are five words or sets of words labeled A
through E. Choose the word or set of words that, when
inserted in the sentence, best fits the meaning of the

sentence as a whole.

Example:

Hoping to ------- the dispute, negotiators proposed
a compromise that they felt would be to both

. labor and management.

(A) enforce . . useful

(B) end. . divisive

(C) overcome . . unatiractive
(D) extend . . satisfactory
(I5) resolve .. acceptable

OJOJOIOX -

1. Election to Hawaii’s House of Representatives in
1956 was the first milestone in Patsy Takemoto Mink’s

Qareerasa--—--—
(A)

hﬂosopher
1 °1slator uglﬁ} negotiator

(B) commentator  (C) financier

2C°Tl'§n gnﬁﬁs a.n.ldea and an cxmna\e +heveot f%ﬁf&%

notably Oeverv paraeraph

ere restatement of a commonplace. :
(A) murky . (B) comprehensive © unoriglﬁaf

(D) jumbled (E). groundbreaking

3. When Susan, the manager of the clothing store
where Nathan shopped

e resolved to take his
b;;smess to a competing rétailer. "'H'Ia.i" Si na.l_-.
(A) exaggerated . . exhilarated
(B) disregarded . . gretified

(C) heeded. dvespeaéem
(D) ridiculed . . uaserupulesns

exasperated

@ ﬁ-l-rea.*r- as unlmPar-l'an."r

calan Siqnals 1 4 an exar-np\e. +heveot

. There hus been a est in the art of
painter Yayoi Kusam{)joncgat the ------- of critical

consuousness her work isfnow(very 116’11‘ the center
"kecen-.l? now" ONeeE 2 0p

(A) resforation . . hab
(B) subsidenee . bounday

(© resurgence . "periphery" &—> “centerare
(D) renewal . . core Oppasites
(E) deterioration . .

edge

W

When we agtm;glﬁslﬂy toward others, our ------- is
rewarded by the he release of pleasure-inducing Cing chemicals

in the brain.
@® alruids S

(A) duplicity
(D) effusiveness

enerosi
(C) discernment
(E) subservience

6. Although scientists occasionally receive reports of
snowflakes the size of dinner plates falling from
the sky, the accounig are always_-----—- because
of the nature of snowflakes.

“heg W§W oF A caLLse
IXE cuc:l.alstantla complicated

and ef fect

O iR YL dissprearing

(D) substantwe . intrinsic

(E) anecdotal . . precipitous

nals idea and an sxample theveot
e’s 1§97 novel An Antarctic Mystery

(it foresaw the disastrous long-term

consequenc e massive hunting of whales.

(A) spunous (B) vitriolic
) zsuent (B

(C) reminiscent
resumptuous
-Fure lha

8. M the authontanan agl e accordegl mﬂm

encace in political activity.
(A)

(B)
(©)

COIMIMONETS . . Opportunity
dissidents . . cause
adversaries . . inclination
elites . . latitude

) stalwarts . compensation

“Al-l-houﬂ nalso Pcss’rz ule.os -
“elites (——g ank-and-
‘are oppas\-i-.;:s k File’

GO ONTOTHE NEXT PAGE
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The passages below are followed by questions based on their content; questions following a pair of related passages may also
be based on the relationship between the paired passages. Answer the questions on the basis of what is stated or implied in the
passages and in any introductory material that may be provided.

Questions 9-10 are based on the following passage.

L came back from Afijca with ideas fora new piece
af art, more pmmtwe than any [ had ever dom, before.
. itive? is eina to explain the
e i tQ-ls;&_O-. s and
and ¢ i
ke a blues singed [like to repeat and repeat it again.
Fragmented, und “Fragmented, understated, o or punimalist art formg

mI want to finish them. In the 1960s there was a
‘minimalist aesthetic advocating “Less is more.” To me,,
less is even less and more is still not quite enough,

9. The primary purpose of the passage is to

@ _ggnb_s_a_ms:aim_;zhlhzsxzphxes):&inl\j lines 9-i0 "

(D) provide a histerical-overview
(E) offer a technical lesson

10. The mention of the “blues singer” (line 6) geryes
primarily 1o,

(A) sussestepossible-audienee for a type of artwork

(B) indieate the widespreac-peputarity-ol a certain
Jind-os "

(C) identify a possible astistic-colaberation.

@ Eﬁ@ between a style of art and a style
ic' t§t a blues si Pgdar”

(B) express admiration for a particular musical form

of music

h my art in the manner of tribal art, and then,

< fsar

Questions 11-12 are based on the following passage.

Rain had fallen all week, especially at night, and even
though the weather forecasters had noted repeatedly that
these rains were beneficial, Benny Meyuhas was baside

Lire himself. It seemed to hiny that the head of the studio’s

5

10

h_odummupanmm himself had grdered this rain, to
prevent Benny from night filming lddoe and Eynam, or to
force Benny, as the department head put it, 1o finish up
already with that thing that’s eaten up our entire budget
for Israeli drama.” Just when Benny had lost all hope of
completing these last scenes, which he had been filming
secretly, the rain suddenly let up, and the Moon appeared.

The passage indicates that Benny “was beside himself”

(lines 3-4) because,

(A e bt ] i i
that year

(B) the #ain-mighi-step soon, riningthe-moody
atmosphese of his night scenes

(C) the Wﬁm@h&%ﬁmwﬂl
another director

@ he was afraid that he would not be able to finish
the film in the way he wished

(F) he-swas-worried-thathe-micht-notgst-paid for
his work

(B)lines 4=10

12. The passage focuses primarily on

(A) examining s

@ depicting a filmmaker who is under pressure
to complete a project

(C) tampooningastudie-esecutiue who is being
manipulated

(D) sendemning the way film studios exert control
over directors

@) & e howidestians o T

(BDlines T~ 9
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Questions 13-24 are based on the following passages. 4

s

Lhese passages discuss hydrozen fuel cells, which use
electrodes to unite hydrogen and ox ygen fo_m&m;.
electricity, heat_and water, Both passages are adapted
Jrom works published in 2003

Passave 1

hydrogen power is proven but primitive, a technology ripe
for acceleration and then deployment. For that, thank the
Apollo program itself, which spurred the development of
early fuel cells

Passace 2

Outside of science fiction, {he hydrogen-fueled car is

50 probably the most radical reinvention of the automobile
E g 1 the A creemine gver imagined. The fuel supply is jpg},ﬁhﬁlnsijb g, and the car
. produces po emission ater, which, upon emerging
{nﬁiﬂi j S S'leﬂlm = from the tailpipe, is, in pnnmple at lc,ac.t clean enouch to
obbed the ﬁthaale}lmmto space in 1957. Then, on Ak Thescar eam svs Serve e £ el
April 12, 1961, Russian cosmenauf Yuri Gagarin blasted
afris Vos tok 1 and became the 55 When parked: a hydrog{enﬂc‘ar owner can use it to hght
President Kennedy understood mﬁ&w“ o sace his or her home. Sometime in the past year or so, the
y dominating space hydrogen-fusled car moved out of the laboratory and,
could mean the difference between a _ciouptw able to if not quite onto the road, into the bright showroom of
defend itself and one at the merey of ifs rivals, In a public relations.
May 1961 address to Congress, President Kennedy 60 E umber of reasons— primary among them
unveﬂed M—Mg_mmw the i narﬁcmncy of the internal-combustion ENg ing—
= 0 the Moon and retuy automobiles represent a particularly promising fuel-cell
— g Faithy, Congwss a}ppiop riated the funds, application, Fuel cells produce electrical, rather than
scientists and engineers put their noses to the .launchpad, mechanical, energy—in this way, fuel-cell cars are similar
and Neil Armstrong stepped onto the Moon eight years, 65 to battery-powered vehicles—and, using the same amount
later. . of energy, can propel a car near:i three times as far as an
The = Leliance on internal-combustion engine can) Yet bars represent a
fgxg;_lﬂ Just as we responded to SOVlet spac"e supe,nonty pec ;]ja' challeng) they require a oreat deal of power,
with a bold commitment, so now cted to {1 s di -3 between refuelings,
L&Qquw impartant md e . Adriong the
md_mlﬁ_ﬁmgﬂmgg Conventional wisdomgoin¥ many obstacles to commercial production of antomotive
indicates two ways for the United States (0 reduce fuel cells are cost, durability, and fuel storage, There are
dependence on foreign oil: increase domestic produc also concerns abouf safety, althongh fuel-cell advocates
ot = z-rem - tacmgt dmi;icw maintain that the dangers of hydrogen have been greatly
- 75 exaggerated. In a recent paper, physicist Amory Lovins
plans to drill m ,the Aretic Natlonal Wildliie Refuge. Mgggs that hydrogen is ‘%tziee{si ag safe as natu{al gas or
For all the political wrangling and backlash, that area’s LPG (liquefied petroleum gas) and arguably is inherently
productivity isn’t likely to offset declining output from SR ah BERATIAL®™ = ‘
larger United States oil fields, let alone increase the total r:aAlﬂl ouehl it is the most plentiful element in the univ erse,
supply from domestic sources. As for réducing demand, 80 hydrogen on Barth exists almost exclusively in combi
the levers available are small and ineffectual. Moreover, with other substances; therefore, It must be eXlacied, a
deep %me process that can itself require & considerable amount of
energy. Hydrogen can be produced using renewable energ
There’s qaly one way to insulate the United States from SOUICES, 11{%3 wind, but it Ean just as eas:iy in fact, -
the corrosive power of oil—develop an a}temau\fe% 85 perhaps more easily— be extracted by less environmentally
resource that’s readily available domestically. Of hydrozen,

coal, natural gas, wind, water, solar, and nuclear, hydrogen

ubstitute Tor foreign oil within a decade. Hydrogen sLurcspa;n-r
energy more effectively than current baﬁem -
Twice as erici euti__g n a tuel cell as gasoline doss in an .
Ltema_—combustlon engine (mors than making up for
the require 121, and Jeaves only water
b_e'gmd. Ii’s plentiful, clean, and —critically —ganahle
of powering caig, Like manned space flight in 1961,

o3

is the gnly energy resource that can provide a wholesale in?orfm?

benign means. A prototyps Tor a fuel-cell rack, since
abandoned, extracted hydrogen from gasoline through a
process known as “reforming.” This approach obviates the
need for a whole new hydrogen-delivery infrastructure, but
sincs it produces substantial amounts of carbon dioxide, it
also obviates mauch of the reason for switching to fiuel cells.
Similarly, hydrogen can be produced from coal; once all
the emissions of that process are taken into account, it's
debatable whether fuel-cell cars vield any environmenta,
penefit at all.

lines 6T-95 All of +he msmve_s!

N
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14.

15.

16.

. Which best describes the relationship between the,

two passages?
(A)

(B) Ba-gs&neﬁ_,-su&ee&s-a-selu&@ﬁ-to a problem
described in Passage 1.
© Passage 2 points out potential benefits and
drawbacks of an idea raised in Passage 1.
(D) Passage 2, hke-Passage—+, indicates the practical
challenges of implementing an idea.
(B) Pas-sﬁaeJ like Paqqa% 1, discusses fhu potential

Lines 1-2 (“Four . .
described as
(A)

. security™) depict a situation best

chaotic
threatening *
noble
humorous
rebellious

1 4]
& creepi nNqg menace

(D)
(B)

Lines 12-15 (“Congress . . . later”) indicate
that the response to the program introduced
in President Kennedy’s address was

(A) excited but cautious

@ determined and focused |ines 12-15 E.Sgecm.\

(C) supportive yetfearfut
(D) deubtfd and concerned
(E) wameestain but willing

“noses fo th

Lines 16-32 suggest that the author of Passage 1 would
most likely recgond to the assessment in lines 92-95,

Passage 2 (once . . . all”™), by pointing out that

(A) thezeismore-environmental-bepefitin using
hydrogen extracted from coal than in using
hydrogen from other sources

such reasoning could be used to defend drilling
in the Arctic National Wildlife Refuge, even
though doing so will bring little real benefit

asa substltute for torelcrn oll, coal-can-currentty

can
enervy independence is a critical need for the
United States, even if the use of coal does not
vield environmental benefits lines 13-20
attempts (o increase-coalproduston, like attempts
to increase oil production, are likely to resulia

political wrangling.

(B)

©)

©

E)Y

laun

17

19.

20. The

. In line -

The tone of lines 33-38 (“There’s . . . decade™)

sts that the amhcu s attitude is

@ unequivocal = de Finl +2, Q(P' icit
(B) accusatory

(C) impartial

(D) defiant

(E) nonchalant

(A)P_:s chl

“ripe’

sugges

os‘Pn%Ea) mbansa resource”

matre Jus ¥ plug inall Five
Eeady answer c ices -
forunate pm ¥ be a it with

mellow he context
spoiled

(A)

(&)
(D)
(B)

Tn lines 63-67 (“Fuel . . . can™), the author of Passage 2
is concerned primarily with

(A) s NG.! .

(B) comp’mnc battery-powered automobiles with
gasoline-powered antomobiles

@ describing one reason that the automobile
represents a promising use of fuel cells

(D) indicating that fuel-cell cars can travel faster
than gasoline-powered cars 'Fay +her-~

(5) mention i ofhoT
manufacturing a fuel-cell car faster

»

=70 (*“Yet . .. more”) gerves (g

(A) substantiate-anearlercencralizatonby
introducing an example

(B) reiterate the author’s previous claim

(C) offerseveral possiblesolstions (0 a p1oblem

(D) signal a transition in the author’s argument Y T'"J

(E) question why a particular course of action has
been undertaken

. Thelauthor of Passacre l wouid most likely mspgnd to

the stateme ge 2 (“Although .
energy’), iming

relative efficiency of hydrogen compensates for

the energy expended to extract it

(B) commercial exploitation of hydrogen is
unnecessary because it is so readily available

(C) extraction-ofhvdrogen-ofien basasionifieant
np-gm‘nrp 1mnqr-f o the environment

(D) efficient production of hydrogen must be a top
priority of those advocating fuel-cell cars

(E) cenecernstaisedaboutthesafery ofhydrogen are

lecithmaiaandjustdiod
(A lines 33~ 43

GO ONTO THE NEXT PAGE>



2. Lines 88-9] (“This . . . cells”) indicatg that the author

of Passace 2 g‘g;‘léjgg‘g “E‘aggp}_};go” (line 88) to be
(A) a significant breakthrough
(B) promising but untested

© of doubtful value “abviates...réadon for

(D) impossible to evaluate S itehin 5 +o fue) cells”

(E) potentially dangerous

24, Compared with the author

Rassage 1 i3 Ide_nﬁ-F:‘ the subject

§8a¢g

2, the author of

(A) 1 < =

a‘@e"ﬁati: Lo EB e;.‘gfl S e‘“‘ea

(B) less worried about-hew-te-rearkettrydrosen
fuel-cell cars to the public

more enthusiastic about the prospect of hydrogen

. Inline 94, “vield” most nearly means

"oebviate " rerLo Ve, serving as an alternative source of energy
(D) nere-concerned-aboutthe-satety-of using

hydrogen as a fuel

&) rewad Just plug in all five (E)
B) submit answer choices —
(C) concede st be a it LIJI'H'I.

produce
(B) withdraw the context

in the
developme:nt of alternative fuel sources
) e.s._Fec la.lla'j last Paraﬂm.ph
of Pasi qe .,

STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section in the test.



SECTION 2
Time — 25 minutes
20 Questions
(1-20)

Directions: For this section, solve each problem and decide which is the best of the choices given. Fill in the corresponding
circle on the answer sheet. You may use any available space for seratch work.

/'
- 1. The use of a calculator is permitted.
2. All numbers used are real numbers,
& 3. Figures that accompany problems in this test are intended to provide information useful in solving the problems.
-% They are drawn as accurately as possible EXCEPT when it is stated in a specific problem that the figure is not
A ~ drawn to scale. All figures lie in a plane unless otherwise indicated.
4. Unless otherwise specified, the domain of any function f is assumed to be the set of all real numbers x for which
J(x) is areal number.
-
o X T
=
E : A h h e 2 A, TN
g W ] W 300 45°
o ) ) =] 2 | 3
E A__. ‘2 1 a X 3 d
8| ooy A=W A=3bh V= twh Vewh  ctea?ep?  Special Right Triangles
5]
=
5| The number of degrees of arc in a circle is 360
(\_/‘ The sum of the measures in degrees of the angles of a triangle is 180
o dds . B
1. A lawn service can guf 45 lawns in 12 hours, P 0 R
At this rate, how many lawns can the lawn service
- ? ¥ * —
cutin i 2. In the figure above, point Q lies on PR. The length,
2 e SEE
Eg; 52 Y5 lﬁl ns . X lawns of QR is6. and the length of PQ. isiwice the length,
30 J&houns — 8 hours of OR, What is the lencth of PR ?
EE)) jj’ Lross md-t—ipl:j and divide, @A) 6
12X = 360 B) 12 gR+PQ=PR.
/& I 13 p+ 1 =PR
(D) 24 _
X = 30 E) 36 18 =PR.
GO ONTO THE NEXT PAGE>




6 12 4

n onon

3. For which of the following yvalues of p will the
fractions above all be integers?
(A) 8 The inteqers are t+he courﬁ-irﬂ

B) 6 numbers, v i
8 ey aerc;.'hm pppomfe_s,
@ 2 s 3 12 — b 4 5. In the figure above, lines £ and k are paraflel. What is
2 =3, 2 -0,z = e the value of z 7 .
® 130 sm LDDBA =30 I twolines
®) 100 are parallel, alternate
D) so Inferior anales are cgua,l,
)y 70
mLC(EB+mLACB+m LeBA=1RO
The sunm of the measures of +he
a.n.ﬂle.: o—Fa_'rrm.;glc egu.a.l.s IRO.
20 +8,+ =180
3 +50 = (80
- 50 -50
4. A box contains a red marble. a green marble, a yellow 3 = |30
marble, a blue marble, and po other marbles, Two,

marbles are to be chogen at random from the box
mlhsum.@plaszmﬁmi ;Fe first marble chosen.is
green, what is the probability that the second marble

chosen will be blue? ;

1 fhoa 6. (f)4x — 2 = 14, what is the value of 2x —12
o Oi’lama.l +otal) = 4 ® i The HUE B aimss
J, i N8 4x- A =14
1 Ol’ljln.a.l-sre.e.n_=3 §)7 _ ,
3 b] )r ":_ _]_ aJ_ (C) 6 DlVide. boi‘h Slde.s DF
© L we out oF new Tofal= D > +he ezuai-'lon. bj L.
R .~ 7 1 . T (E) 4
=3 | 4x-2 _ 14
o 2 & F2
’ axX-1=7
E) 1

GO ONTO THE NEXT PAGE>
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] 2

Plan 1: $20 per day plus $0.30 per mile driven
Plan 2: $10 per day plus $0.35 per mile driven.

7. Ramén wants to rent a car for a day and can choose
from the two rental plans above. For how many miles
driven would the two plans cost the same?

(A) 50 Loy m. = piles drivers
(B) 100 20+.3m_= [0 +.33 0

(Q 150-20 -20
200 3= ~-]D+.38m,
(E) 250 —-.35m - .35m.

o -~ 085 = -JD
Divide bot+h. sides oF +he e<5ua.1'jon
btj - 08
=088 .. —IQ.
—-.05 - = 085
m = 200

-

A1,2)

O

8. In the xy-coordinate system above, which of the
following points lies on the ling that passes through
points O and A7

@ ©.1 slope = FA
®) (13) il

© (2.1) re0 — &

© 29 Now wuse the answers Yo
o ?_3 Ffind +lhe same .s’!ope...

(D .ﬁ.&:_u.l.: ._‘.t.o.__.-_-_‘j_____.&
Xa =Xy d=-0 i

-Bt1-

WYLIE CITY CABLE SUBSCRIBERS

—Madison Cable
~Sheridan Cable

Worth Television Cable

Invent
Cable

40%

Pacific Broadcast Cable

Other Cable

30%

The circle graph above shows the distribution of cable
service gubscribers in Wylie City.(iaﬁylie City has
5.000.000 cable subscribers, how many subscribe to
cable services other than Invent Cable? .

@ 3,000,000 00 % =406 = LO Kb
55 2000000 0% =.0b
(©) 1000000 _ ¢ X 5000000 =

(D) 300,000
(B)  200.000 3000000

10.

b 5(b)

Some yalues of the function g are given jn the table
above. For which of the following yalues of b does
g(b) equal |2b|+17

@ - (k) =labl+1I
Ecg "% Now use H-:le. chart.
< (A)a(b)=]abl+l

py o '™M3

EE)) 1 Tsld2-3l+|
T=l-6l+1
T= b+
FE e

GO ON TO THE NEXT PAGE>
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11.@.1: + x4+ x =m—m—m, and ;g =3, whaiis the 13. @the surface drea of a cube is 48 square inches, what
value of x? - is the area, in square inches, of one of the faces?
(A) -3 X+X+X=m-rm-rL and m.=3 (4) 6 Surface aven =area of
@ { 3X=-mu @) 3 < +he faces
- e (C) ¢ =
© o ‘3)( = ~3 . (D) 10 EA = Z'Lo.
@) 1 Divide both sides of the. B 12 8=ba"
m 3 guation by3 Divide both sides of +he
® 3 5 equation bd G
F=7 | 4% -
il b a.‘”
- 8 =
14. For which of the following values of_x is the value of
— Yeasd
R —
T ¢, R T
(8 el T |
16 1% 4
Twice the sum of x and y is decreased 1
by three times the product of x and 2v. B) 4 ( B) JlI:— _'L 2:
4 s
12. Which of the following algebraic expressions 1
ngms&urﬁ_ﬂl&sm@m@m_ahm_? -(C) (C) e e ke |
@ 2(x+5)-3x(2y) Just franslate! @) 4 Jr !
(B) 2(x+y)—3(x+2y)z(x+—:j)-3(ij) (D) 1 |
05 6PsaRy | @u or TE
ey — Y
) 21— 3x(2y) & (x i-"j) 3X (&3\ (E) I ]
J76 G
GO ONTO THE NEXT PAGE>
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Note: Figure not drawn to scale.

15. In the figure above, AB = BC, _CE____CD, and

x = 70. What is the
mnﬁcDE =70 Buclscﬁam

(A) 40° " jgpspeles A are 2qual.
B) 70° pm s BeD=140 Ex¥erior
© 1000 angle +heorerm.
(D) 110° mm LA = ‘1'? Sum of the
(B) 140° measvures ot svpplementar
I3 = {80 PF J
MLBAL =40 Base /s ofan
1Sosceles A ave equal,
m LARC =100 Exterior
a.nj[e. +heorep.
y
y
P(5,3) ﬁ3(|,3)
o 3
A;
of 6"
V(=2,-3)
16. In the xy-plane above, the parabola with vertex V

is the graph of a quadratic functiop. Which of the
following must be the coordinates of another paint
on the parabola?

Distance from -2 1to-5=
(g)) 8 2 —a-(~5)=~AH+5=3
(((3 (1’ )DIS'l-cmcq]-FrorﬂaA to-A.=

@ (2,2) "A+2 =3
® 23) . A=l

Distanee from BtoA=
B-A=2
B-0=3
B=2

13-

Number | Frequency
80 X
88 y
39 15"\
90 19 ? 45 numbers
100 1 )

17. The table above shows the only five numbers that
appear in a data set containing 91 numbers. It also

shows the frequency with which each number appear

in the data sett:go is the on]i mode a_nd_&&m_thc_
median, what is the greatest possible value of y ?

(A) 26 @8 is +he mediar or +he middle

B) 24 n So +he sum of

(C) 23 X+y must eoual -95= 4k
@ 22dust Ose +hé answevs-

E) 20 (;\‘3 =26, X =20 NOTa maode
CB)I—P 3 24, X = 22 NOT a mode
(QLF g =23, X= 22 NOT a.mode,
(DIF 4=22, X=424 A mode

ot mast+ Freguent|
apPpEArin ould
EP ciu_se 80 would

%@dﬁl’ pi‘?' i l& : M&rc_ fhm

1 = y

18. On the number line above, the tick marks are gqually
spaced. Which of the following expresses _y_in termg

?
s X=-1=distance betrween.
4 x+2  ¢jek Marks, found
B) 2x+1 u.sinj Subtroctiorn.
(C) 2=4 dl.S’f!.Ll"lCt: from 4 +o X
® 3x-2  equals two es
B3 gagm X~ 4 X~

Mo} = d X=d

+X + X
4y =3X~-2

GO ON TO THE NEXT PAGE>



2

e
S

Rr
. |
RoomR | RoomS Rocm 7'

19. The figure above shows the layout of three rooms,
and the spaces in the walls indicate the locations of
five doors. Starting from room T, a dog will travel
through the rooms to greet his owner in room R and
will return to room 7" without passing through the
same door twice. How many different routes through
the doors can the dog take?

(A) 5 Leavi RoomT+hm h
o 43

% ® Door am:l returning
(D) 10 *hfﬂfg_ oor B3, +he do
® 12 ke SiX A‘-F’Fare:rhj
routes.

ACDIR

ACE DB

ADE 3

ADC D3

AEDDB

AEC R

Leavins Roem T +hrouﬂh
Doar 3 and returain

thrauqh Door A, +he mi
Lan tdke six differe
routes.

(n—(n I:Z,

20. Which of the following must be M

values of x7?
oo e

L (x+ 1) = x*
L (x-2)*20
I x% +122x

(A) Tonly

(B) Ilonly

C) Iand Il only
IT and I only

(E) L1II, and II

I (el 2 r*
(x+DXED 2 X
Xo$AXF[2R™

oh

AX¥I2.0
Let x=-I
20-D*+1z20o
-2+l 20
~-12a0 INO

Ir. (x D*20 YES

U-mﬁ s wared “will alwa j_s
3 awal itive. numlser

Je.ro

HIT, X™ 1 24K

~ZX  ~2X
X*=aX+12.0
(x-N(x-1)20
(X=D* 2.0 YES
A u.an‘t's-!-q “Sguared" will
Ggua. asn‘-:ue

rurmber OFJE.

STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section in the test.
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SECTION 3

Time — 25 minutes
24 Questions

25-48)

circle on the answer sheet.

Directions: For each question in this section, select the best answer from among the choices given and fill i in the corresponding

Bach sentence below has one or two blanks, each blank
indicating that something has been omitted. Beneath
the sentence are five words or sets of words labeled A
through E. Choose the word or set of words that, when
inserted in the sentence, best fits the meaning of the
sentence as a whole.

Example:
Hoping to ------- the dispute, negotiators proposed
a compromise that they felt would be ------- to both
labor and management.

(A) enforce . . useful

(B) end. . divisive

(C) overcome . . unattractive
(D) extend . . satisfactory
(E) resolve . . acceptable

] T OO0

S1
25. The ancientGreekg 1m1v IML [ —

power of musi .phlsmans_mﬁsgubj_mas an
antidote to spakebites. ”‘H‘IOJ' as a. o

unction
A omited (5] somamy féf fapse Jncl efPert

(D) educational  (E) subjective

iqnals a pasitive attitude

6. The ity of Barbara Jordan’s keynote .
address at the 1976 Democratic National Conventmn
confirmed Jordan’s reputafion ag —------ ak

(A) a frustrated (B) a humorous
@ an effective (D) an unhurried
(E) a tentalm po.si tive

-16-

'3 Can sometimes :.::ﬂ:l&ﬁm
""""" the Lol (TpEESA o Seell

(A) facilitato—praventing “'by Indicates an

of plant specie

% ensure . . siratifyine~ 4 Mon and The agert
disrupt . . obstructing ¢4 mgake i+ haPPa
(D) hinder—eirentating
(E) accentuate . . hishlighting
28. IAlthoqu :]A_lbﬂt Colling ====--- the stvles of other blnes
guitarists, he wag clearly ------~ , plaving without a pick

and using un

using unorthodox minor (unings.
) liheughl signgls opposite ideas

(B) ‘sejestod-—wnavermh wiy Pﬂ.rhmp al

(C) decried . anai;-piéat&ee
(D) imitated . . a elassieiss PAYASES descrile

emulated . .

an original

. Some mistook Josh’s zeamoe p"r??ﬁr‘ﬁlﬁi ecau;;

he was shy and reserved, they assumed he wag «----—-
. pensive Lolerr siqnals :deo.

(A) reticence .

(B) exuberance . . standoffish and aR example
{C) modesty . . humble +hereot
(D) quirkiness . . arrogant

@ % . aloof
h yness

GO ONTO THE NEXT PAGE>
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The passages below are followed by questions based on their content; questions following a pai; of related passages may also
be based on the relationship between the paired passages. Answer the questions on the basis of what is stated or1 implied in the

passages and in any introductory material that may be provided.

Questions 30-33 are hased on the following passages.

Passage 1
Last New Year's Eve, many of yoy doubtlessly

resolved to be better, wiser, stronger. and richer in the
coming months and years. After all, we're free humans,
ﬂg_uQLQL; doomed to repeat the same boring mistakes
over and over agam right? As W_]_lhanlla.mgs_\.mmm
1890 the whole “sting and excitement” of life comes from
“our sense that in if things are really being decided [rom
qne moment to another, and that it is pot the dull rattling
off of a chaip that was forged innumerable ages a8Q. "_&'L
w._mlamga Ab ;vy of expenm&ntg in recent years

suggests that sugoests that the consci is hkg_amnkgy_u%

atiger of subconscious deuslons and actions in Progress,

frantically making up stories about being 1n control.

Passage 2

It is safe to say that peurosciencg these days views
brain chemistry and anatomy as having a greater impact
on human behavior and the formation of character. than,

free will doesJBu every serious creative writer, of course,
must come down on the side of free will. You mwht ask,
What choice have we? without free will there would be
no literature in the first place: no drama, no insights into
Tuman nature, litle, really, but the drab playing out of the
hands we have been dealt. Artists are the natural opponents

of determinism.

30. The author of Passage | would argue that the “bevy of
experiments (line 10) suggests whmh of the following
about the writers mentioned in Passace 2 ?

@ They are deluding themselves.

(B) They must overcome long odds.

(®)] Mmo;as_unpommg&é%ﬁk
(D) TFhey-neednotwesdsto develop their talents.
(E) T

;qey_eeme-ﬁsem—a-ll—w&lks-ef—hf&
(A) *deluding —fooling themselves if

+he lieve th i
Toa Tle.em ey have. free will

47-

33.

31. The proponents of - W " (line 14, Passage 2)

would probably argue that the 1c that the _New Year's resolutions
mentioned in the first sentence of Passage | e

(A) an

B) a 1&%&@%@{-&-%14%&-&1@5&%
perfection

@ unlikely to be the cause of a creat change
in anyone’s character |ines |5=17

(D) proof of the decisive role played-by-brain
Cchespisteyg

(B) evidence of the ongoing tension-betwesn

the rational mind and cubconseions desires

The reference to the “playing out of the hands” NO free
(lines 21-22, Passage 7) most closely echoes will
which, of the following from Passage 1 7

(A) The “‘sting and-excitemnent—ofHfe (line 6)

@ The “‘rattling off of a chain’” (lines 8-9)

(C) The “bevy of experiments” (line 10)

(D) The “monkey riding a tiger” (lines 11-12)

(B) The “making up stories about being in control”
(line_13) . "

(@)"...Forged innumerable ages age

Which best describes the relationship between the two
passages?

(A) PRassase2relates-a-persenal-aneedete that
exemplifies the conclusion drawn in Passage 1.
(B) Rassage2-offers-evidensethat disproves the
central hypothesis advanced in Passage 1.
(C) Rassage2presents-a-possible-seluten to the
set of problems described in Passage 1.
(D) Passage 2 calls attention to people who deny
a fundamental claim made in Passage 1.
(E) Rassage2carriestoilslogicalconslusion the

M@%@B—B&G&g&l
) Peop\e_" =) “wri'rer“r -
and *artists"

GO ON TO THE NEXT PAGE .
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(Questions 34-39 are based on the follewing passage.

The s DAITaIoL of this passage from a twenifieth-centugy
iovel Is a geventv-six-veai- Old writer )‘"om Frszlnmz’ Her
recollecti z

her dazwhrer Lzsa

Tod ﬂ:[ lanou age 51 sndg d me. [ could not find
—a commonplace familiar
furnishing. For an instant, I stared into a void. Language
tethers us to the wor 1d; thhout it we spm like atoms.

ate —anaming of
parts: bed, chair, table, picture, vase, cupboard, window,
curtain. Curtain. |JAnd [[ breathed again,

We open our mouths and out flow words whose
ancestries we do not even know. We are walking lexicons.
In a single sentence of idle chatter we preserve Lafin,
Anglo-Saxon, Norse; we carry a museum inside our heads,

each day commemorating people of whom we have pever
heard. More than that, we speak volumes-—oqur language ig
the langnage of everything we have not read. Shakespeare
and the Authorised Version! surface in supermarkets,

on buses, in chatter on radio and television. I find this
miraculous. [ never cease to wonder at it. That words are.
more durable than anything, that they blow with the wind,
hibernate and reawaken, shelter parasitic on the most
unlikely hosts, survive and survive and survive.

I can remesnber the lush spring excitement of language
in childhood. Sitting in church, rolling it around my mouth

like marbles—tabernacle and parable, trespasses and
Babylon and covenant. Learning by heart, chanting at the
top of my voice-— “Lars Porsena of Clusium, By the Nine
Gods he swore, That the great House of Tarquin, Should
suffer wrong no more . . .”2 Gloating over Gordon who
could not spell ANTIDISESTABLISHMENTARTANISM,
the longest word in the dictionary. Rhyming and
blagpheming and marvelling. I collected the names of
stars and of plants: Arcturus and Orion and Betelgeuse,
melilot and fumitory and toadflax. There was no end to
it apparently—it was like the grains of sand on the shore,
The leaves on the great ash outside my bedroom window,
immeasurable and unconquerable. “Does anyone know
all the words in the world?” I ask Mother. “Anyone 77
“I expect very clever men do,” says Mother vaguely.
Lisa, as a child, most interested me when I watched her
struggle with language. | was not a good mother, in any
conventional sense. Babies I find faintly repellent; young
children are boring and distracting. When Lisa began to
talk T listened to her. I corrected the inanities encourased
by her grandmothers. “Dog,” I said. “Horse. Cat. There are

-18-

LRI

no such things as bow-wows and gee-gees,” “Horse,” said
Liga, thoughtfully, tasting the word. For the first time we
communicaied. “Gee-gee cone?” enquired Lisa. “That’s
richt,” T said. “Gone. Clever g irl.”léndlLisa took a step
toward maturity.

! Influential translation of the Bible, first published in 1611
2 The beginning of Thomas B. Macaunlay’s poem “Horating”

34. The primary purposg of the passage is to
(A)

Modern English
(B) detail the nesrator’s-difficuliy mastering language

as a child
show the narrator’s appreciation of language

(D) M@-&h@-ﬂ@&t@k&@@&d@d@@ﬁ-&m

- (B) show how the narrator increased her langunage -
skills as she grew up

() line T, lines 17-20,1ine 41,lines 29-30
35. The tone of the sentence in line 7 (“And.. . . again”)

is best characterized as one of
(A) joy
relief The. harrator could name

(C) puzzlement what she couldn't before
(D) frustration
(E) anger

36. Lines 10-13 (“Ina. .

which point?

(A) The Enslish-lansuageis-quite-difficult-tolearn.
Ancient languages are lperpetuated in everyday
English speech.... W& 'Pre.scrve

(C) The nasrater-is-vraware-ofherpretentious-use
cflananacs,
(D) The g@néral—pabhs-p&@feps—tg-bc-pgamm of the

. heard™) most directly emphasize

(E) Languages whose ancestries the narrator does
not know are as complex as English.

GO ONTO THE NEXT PAGE
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The passage suogesis that the narrator was most like Ey,
fascinated by the words in lines 2304 (“tabernacle . .
covenant”) hecause of theiy

(A) elaritv-efmeasning

(B) relistons-signiteanes

(<) neqaeg«,y-m-eea-v?mu@u

@ sensory qualities ... Yo‘l‘nsrn+ a.rou.n.d
(B) sehhistonn l""l:.j outh...”

. In lipe 33, “graing of sand” primarily serves

as an jmage of something

(D) sgg&nglyubmn@gcnw
seemingly infinite =

Gmmeasurable and

un conaue rable”

-519-

(©)

. The dialogue in lines 43-47 suggesis that for the

narrator, Lisa's question sienals a recocnition that
(A)

(5

i 3 o ~ -

childish vocabulary ahould bb abandoned
IW&—W
woxds can be aesthetically plemmc

T corrected the inanities..”

(D)
(E)
(>

GO ONTO THE NEXT PAGE>
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Juestions 40-48 are based on the following passage.

[his passage is gdapted from a 1988 book that examines
the influence of Native American cultures on other world
iures, Here, the guthor discusses Machu Piechi, the

wns of an guclent Incan city located on a reniote

and steeply terraced mountainside in South America.

There is only one Machu Blgom,ghgum:dsmm
mysteries. The ruins of this ity sit
perched 2,000 feet above sea level on a mountain

overlooking the Urubamba River. Even though in size
Machu Picchu barely surpasses a village, the ruing show
ity indicative of a much more important plac
precision-crafted buildings with neat regular lines, beveled
edges, and mortarless seams that characterize the best of
Incan architecture. The gpectacular setting combined with
the exquisitely wrought buildings have evoked much
speculation and much romantic rubbish gbout the purpose
of the city, The explorer Hiram Bingham who “discovered”
Machu Picchu erroneou sly assumed that he had found the
the Incan empire. Many other people assumed
‘that its purpose was religious, thus dubbing it the “sacred
city of the Incas.”
None of this agrees with what we know about the Incas.
They did not build Iarge pyramids to please their gods.
They did not build observatories to watch the patterns of

the stars. Indeed, they displayed an austere practicality in

every aspect of their lives and showed [itfle hint of religions

fervor and no tendency oward either the sentimental or the
superstitious.

[n light of this practicality, the existence of Machu
Picchu seems all the more puzzling. Why would the Incas

build a citv and line the mountain with terraces gven though

there was very little soil there? The builders used the best
techniques known to them to make terraces that would last

for eternity. Then the workers added layers of rock and clay
as subsoil, and from the river below hauled up rich dirt over
steep embankments half a mile high: This task would be the

equivalent of hauling dirt from the Colorado River to plant
crops on top of the Grand Canyon.
The Incas built hundreds of these terraces, all of them

quite small for anv kind of extepsive agriculture. Some

of them narrow to as little as six inches in width. Such
an arrangement makes no more sense than if people today
decided to start farming using large flower boxes.

A hint 6f the possﬂ)le function of Machu Picchu came
to me while [King there with a friend who is a botanist,
We had approached via a trail perched high in the saddle
of the mhountain dividing the Machu Picchu side of the
‘mointain from a dry inland valley. Standing in this

gateway one sees fwo worlds; the brown and lifeless valley

[P
L

60

65

and the jush emerald-green valley watered by the thick
fogs of the Urubamba River, As we descended toward
the city from this high pass, 1 stared out at the spectacular
landscape. While I looked up and down the long vistas of
the Urubamba, my friend was looking at the vegetation and
naming everyihing erowing along the path. I found this
distracting from the big p1cturaLbL[ 3s we dcqggudad and
passed from one terrace to another, the plant names
changed. We were passing through a series of ecological
layers, as one does on many mountains m the Andes. The
mountainside is laid out in strips of végetation and"

microzones. The place is a scientist’s dream dream—the perfect
location for all kinds of controlled experiments. Viewed
in that context, the small terraces took on new meaning
as experimental patches at a range of altitudes and built
at so many different angles, facing the morning sun, the
evening sun, constant sun, or no sun.

In my mind, Machu Picchu suddenly became an
agricultural statjion. And in that sense it was indeed a sacred
spot, because agriculture was a sacred activity for the Incas,
They had been among the world’s great experimenters with
agriculture, and they built numerous experimental areas
where crops could be erown in different ways. It would

not be surprising if the Incas devoted a place such as
Machu Picchu to just such an activity.

40. In context, lines 7-9 (“precision-crafted . . .
architecture’™) serve primarily to

(A) suggest that Machu Picchu was built to withstand
forceful military assanlts

@ provide details supporting the claim that
Machu Picchu was a swmﬁcant place

(C) show hotw
contribute to the mysteriousness of-
Machu Picchu

(D) present an argument about Incan architecture that

(B) mmmm

@i be%%séﬁf&%;; n@ia;éfﬂ

41. The aut
evious theories about the

to imply that many previous theories
of Machu Picchu were e\cqsgve:!y
(A) softhearted

(B) ambitious | g

g fanciful = JrfLQ.Ql NAY

(D) pessimistic fi¥s 31+
®). i

archaic

,Farferched -
.chaula:l'wn

GO ONTO THE NEXT PAGE
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42,

43.

44.

The passage as a whole sugeests that the guihog

would most likely .m_whlshﬁnasm tothe guesfion
in lines 25-27 (“Why would . . . there™) 7

(A)

capital city

(B) To-enecuraserelisionsrefleetion in an ascetic
setting

To study various types of plants in a controlled

setting 11nes 53-69
(D) Tg.puywdeqﬁeaf&nﬂ-ﬁeﬂ—l&b&fm workers hauling

up rocks and soil

(E) Te-inspizepe
pasts-of the-empire
In lines 31-33 (“This . . . Canyon™), the author attempts

to clarifyv an idea by

(A) eitingan-awthority-

® making a comparison u:-!-h
(C) definincadessmr
(D) providingasolution ijgn“
(B) offesingan-overview

In line 39, the focus of the passage shifts from a

@ description of an gnigma to a hypothesis about

its purpose
(B) chronicle-ofan-euent (0 a-suggestion-about-its

EEPIFCHEEORS

(C) discussion of an akgument-lo an anakysis-efiie
weakpess—

(D) portrayal of a mystery to a sriticism-of-one
proposed explanation

(E) consideration of an achievement to a speculation

“on m@lﬁﬁﬂi fnd

46.

47.

48.

. Inline 45,°

“watered’” most nearly means

th e 3¢msuer choices
() seue w;id}“lmi- be afit with
(D) se | +he context

@ moistened " lu.sh .. .VaU%lga_'l:lgr&A l:‘lj

+he rhick F
The author implies that the “layers’
noteworthy primarily because the
- hecause they

(A) snggest an astistic-purpese

(B) lcﬂegr(;-(;eﬂm-ﬁé‘r@t—h‘tbiﬁﬁﬁﬂ

(C) conceal unexpectedresources

(@ include multiple zones of plant it} \nes 8- b
(B) sevealthe-orderof-aformalsarden

(line 54) are.

(A) materiale 'P{u.j m.+h:. ive
(B) seraps amawey choaie@s
(C) decorations Muat be afit with
@ plots t+he Lomtext—

( )

wepaiss  PASSQ 39. S f.'.als.s a lot
The primary purpose OP !-Tl' &_pass Ue as a WT"T% isto
(A) report knownfeets
(B) challenge previous sate

present a personal theory
(D) compare-ancient-culiusss

(E) describe a mysterious location

A Y.. .came Tome. .. -lines 29-40
wn rmy mind.. - line b2,

abouthew—u—was—aeeemphshed-
fA) eniqma. ~reyster
ling &-" Feri

hypothesis -
e 29 - “Possible

If you finish before time is called, you may check your work on this sectlon only.

theor _
nchion®

STOP

Do not turn to any other section in the test.

21
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SECTION 4
Time — 25 minutes
18 Questions
(21-38)

Directions: This section contains two types of questions. You have 25 minutes to complete both types. For questions 21-28,
solve each problem and decide which is the best of the choices given. Fill in the corresponding circle on the answer sheet.
You may use any available space for scratch work.,

-
1. The use of a calculator is permitted.
2. All numbers used are real numbers.
" 3. Figures that accompany problems in this test are intended to provide information useful in solving the problems.
% They are drawn as accurately as possible EXCEPT when it is stated in a specific problem that the figure is not
Z drawn to scale. All figures lie in a plane unless otherwise indicated.
4. Unless otherwise specified, the domain of any function f is assumed to be the set of all real numbers x for which
S(x) is a real number.
N
/'
=
E . A g (O T2 . . 2 <G| o 52
w
k= L xV3
= = ) -
=zr Lot ;
8 A ) A= fw A= lbh V= fwh Venrih c2=a2+b2 Special Right Triangles
= C=2a1 2 i
= .
&| The number of degrees of arc in a circle is 360.
f‘ The sum of the measures in degrees of the angles of a triangle is 180.
21. @ 6xvz = 72 and xy = 3; whatis the value of 7.7 RESULTS OF A 10-QUESTION QUIZ

(A) 3 (“(33: T xXy=3
Y Combine the egquations
9 TRpX O.

8
7
6
(©) ~ . o
@) 12 WSiRg substitutrion il
®) 36 b33 =72 N
/8 =T ?
DIVIA& %DO'I"&'\. Sldﬂ‘ of the, 0'0 1 2 3 4 5 6 7 8
t%“-ﬂ-h Gn. bn /8 Number of Correct Responses
K — 2 22. The graph above shows the distribution of the
¥ number of correct responses on a 10-guestion
3, = g quiz for a class of students. How many siudenig,
had (= correct responses on the quiz?

(A) None B responseas-astudents
®) Two g pesponses -2 studerfs

¢ Thre
é}% Fivee Jorespon ses=| student
® six L students

GO ONTO THE NEXT PAGE>
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23. N is the set of all positive multiples of 3, and W is the 3 = 3(x+ 2)

set of all sg;;g;es of integers. _Whlcll.of the following _
numbers tob 2=3(xx3)
A) 3 dusi- use 'H'u?_ answers 25. ([Pthe equations above are true, then z is how much
Eg;ég _-3_3_(___._ = & greater than y ?
(GE? % 20 a foctor ot 26, so % 1 4-Y= = 3(x+3) - 3{x+2)

36 J.S am

u,H’iPJe O'F.B © 6 9—"3" 2X+9-3X-b
bXb=3b,50 3L 1S a ) 7
sguare ofdntrﬂ“eg_er E 9 geu=q-bed

0 X R 2 o
a
P W T

Note: Figure not drawn to scale.

24. In the figure above, POST and VRSU are rectangles

with the game dimensions @hc length of segment RS
is 2 and the area of POST is 14, what is the length of,

scement OR? A vwa PQST= [4

- @ s | A =14
®) 7 Ly =14
(©) 13 (X+20(D =14
= . axX+4=l

\ . ~H -4
.2X =lo

Divide both sides of +he
'e%ua:&'ion. bta_ o
‘ 3=

X=5

GO ONTOTHE NEXT PAGE>
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26. In AABC, _AB =5 and BC =7. Which of the
following CANNOT be the length of side AC.Y B C
. &% »@
(B) 3 4 D
D2 AX C - ’
5 .
tE)) g Third side theorem -The lengrh
of a side of a.triangle st
be less Yhan the slm of 28. In the figure above, AC and BD are diameters of the
'H_'JC- lengths of the other two circle, which has a radiug of 9. What is the gum of the
S‘dc.s - d qreater than lengths of arcs AR and CD ?
their difffrence. ;- S—
(A) 27 e %?h an arc -_EO
T-5< XL T+5 (B) 3z of the ¢circumterante
2XL Iz © 4x (s Cl—-Dand BEA eacheguof‘d’o
Therefore, of +he answer ch D) 6 rees around a ami’
sices 3.
i v.-:nJ AC can be a length . (B) 8x o.!s 360 30 hal
of 3,5, 7Tand 9 J nd o. oam‘r'm.u.s\'
t 3u.aJ /18
4O+ 40O = RO
O .. .A
360 "' 9 . .
The relationship —ratio—-of the
27. A drawey contains 6 red socks, 6 white socks, su of the (o) I?"O.Cl.nj les to
6 blue socks, and no o other sock socks. If sackg are 20" |8 ‘;L
selected at random from the drawer, what is the
least number of socks that must be selected to
Shsure that two socks of the same color are selected? Thtl’t_fcfﬂ_p the rm’h on Oi: the
e circamferenceé cat of
(g) 2 (onsider the worst Poutblc those Two angles’ ra .s ust
(@3 ; _Scenario- equal £- of the circumference
) 6 Draw from the drawer e -
B 7 a red sock,then a rodius = ,dm.ma er
white sock and then L =R
c blue sock. On the C=13NR
next selectian —the 2
Ffourth ene - a.r"!a.fch: -E'—C = %—(L?_Z): L)
Sock +0 one of the firs
+hree mus+ be selected
GO ONTO THE NEXT PAGE\
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/ Directions for Student-Produced Response Questions

Each of the remaining 10 questions requires you to solve the problem and enter your answer by marking the circles
in the special grid, as shown in the examples below. You may use any available space for scratch work.

Answer: 201

e 2 Answer: 2. Fither position is cortect.
Write answer —»
b 717112 2 I
in boxes. ;;é*i"ﬂ -;l T Fraction i 5:
;: @ line @& Decimal
.. J[ol[o][O)] F @ @|©@] point
OO O, DIOIO|®
S{teitolls {lsfllls
Grid in —»
relslultl.n ® @ @ @ @ @ @ @
{loltlls ofteitolls
Note: Y - :
Colu ded should be left
@ @ @ @ @ @ bl(;;ﬁms not needed shou e le

e Mark no more than one circle in any column.

e Because the answer sheet will be machine-
scored, you will receive credit only if the circles
are filled in correctly.

o Although not required, it is suggested that you
write your answer in the boxes at the top of the
columns to help you fill in the circles accurately.

o Decimal Answers: If you obtain a decimal answer
with more digits than the grid can accommodate,
it may be either rounded or truncated, but it must
fill the entire grid. For example, if you obtain
an answer such as 0.6666..., you should record
your result as .666 or .667. A less accurate value
such as .66 or .67 will be scored as incorrect,

Acceptable ways to grid % are:

&

e Some problems may have more than one correct 7
answer. In such cases, grid only one answer. el %6 6 = ";; g
. e answer =10 o
e No question has a negative answer. 2 : 1-%.@47: ; @ : @i@
e Mixed numbers such as 3% must be gridded as ©) @ ® D@
® @|@ @|@

3.5 0r 7/2.(If [21L1412] i gridded, it will be ® ®|® ®|®
okl (821K Blaisls

interpreted as==-, not 35.) @ < :
2 el oeee ©eeo
= T e
29. @-xﬂ 3x°% and 2Q° are the measures of the three 30. There are 1200 students at Jones High School.

aneles of a tangle, what is the value of x 7

X+3X+20 =180

/ax 4X + 20 =180
- ".2.0 "&O
0 x 4X = 160

Divide. bo+h sides aF +he
ezmﬁmz bj «

S it o N 0§
“ e
A = S0

Answer: 40

If 10 percent of them did not read any novels
last semester, how many read at least one novel
last semgster?

160 7% =107 = 907%
9074 oFf 1200=.9x1206=/080

Answer : 1080 students

GO ONTO THE NEXT PAGE »
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4 0000

31.@v =29.2° and g+ b =4 what is the value
C 2]

of v°

27 4=2%.2F or 2°°
4=29%° gand at+b=4

Cam_l?im: the Two egua+ions
u.smg Subs+itutitbn

4=2%=/4

Answer: /6

32. The cost, in dollars, of a_t-year membership,

package in a professional organization is_given
by the function C, defined by C(z) = 100(¢ + k).
where k is a constant. If the cost of a 2-year |

membership package is 3500, what is the cost,

in dollars, of a 3-year membership package?
(Disregard the $.sign when gridding your answer.)

First Find YR using +he
informaton qiven abdut +he
A ':Sea.r m.eridbershi
L= oG ((t+]-1g
500 = /00 (2+R) Divide beth
160 100 sidex of +he.
e_gm-l—]onb(njjoc
S=2+k,
e w3
2= Rk

Naw Find +h + 7
iz T the cost of e e year

C =06 Fi-.-f—hh
C =100 (3+3)=/00- b= 5600

Answer: 60O

33. A square with sides of length 6 is divided into nine
smaller squares of equal size, What is the perimeter
of one of the smaller sauares?

b
-3 - Y- ;A

b

Ferimmeter ot a souare =
‘fxlcngl-h of a_side,
P=4()=8

Answer: &

34. @ a_represents the greatest prime number Jess than
100 and _b_represents the least prime number greater
than 10, what is the value of a + b ?

A‘Pn’m.‘_ aumber 18 a numbey with
cmllj Yuo $asters —itself and one

9reatest P'rime nu.m.ber less than
oo 18 11

least -Pri me nuwmber 8rco.‘l'¢r
+han 1O I1s 1)

G+b=97+11=]08

Answer: 108

GO ONTO THE NEXT PAGE>
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|

CHANGE IN DEPTH OF
LAKE ALEXANDER

Change

Year in meters
1996 +150
1997 -125
1998 : +75
1999 -125
2000 +75

35. The table above shows the change in the depth

of Lake Alexander from the beginning to the end

of each year. At the beginning of 1996, the depth

of Lake Alexander was 400 meters. The depih of

Lake Alexander at the beginning of 2000 was what

fraction of its depth at the end of 2000 ?

eamnin of 2000 =400+ 150~125

+ 75125 =625-250=2375

end of 2000 =375 + 75= 450
o W F 3

W20 T8 T Z

Answer 5% or.833

37. If x and y are numbers whose average (arithmetic
mean) is 1 and whose difference is 1, what is the
product of x and y ?

The sum of a set of numbers eguals
+he number ot mumbers TIrMas
+he averase of +he nuormbers-SzNA

S:N/-‘@c
o %:1-\:1
X=9=\
5 i 3
X 5
2-1.5=.
= (

Y 5
X 1D C8)= 75

Answer ‘3— or .5

—

—
-
—

=~

2. 12, 72, 432, . . .

36. In the sequence above, the first term is 2 and each term
after the first is k times the preceding term, where & is
a constant. What is the value of the 52nd term divided

by the 50th term?
SaMterm =2 %G
50" erm =X 6%

x s\
2 x L™ = Nagbany

X o
Answer: 36

51

J

AT

O )
B b,~P

X

38. In the xy-plane above, points O, A, and B are the’
three vertices of a triangle. The coordinates of A and

B are (6, p) and (6, —p), respectively, where p is a
positive number. If the area of AOARB is greater than 9
but less than 10, what is one possible value of p ?

Jus+ TRANSLATE !

9< Area. sT AocABK/O
<< bhKi0 Muh-iplts all

Termes by 2
/2 <bh <20
/84 bbb <26 Divide all
3<4ABL 3% Divide al)
q 0 5 ‘erm. S b(jg.
T GABAE £aR=p

STOP Answeri3—<{pls

I you finish before time is called, you may check your work on this section only.
Do not turn to any other section in the test.



SECTION 5

Time — 30 minutes

39 Questions
(1-39)

Directions: For each question in this section, select the best answer from among the choices given and fill in the corresponding

circle on the answer sheet.

The following sentences test correctness and effectiveness
of expression. Part of each sentence or the entire sentence
is underlined; beneath each sentence are five ways of
phrasing the underlined material. Choice A repeats the
original phrasing;: the other four choices are different. If
you think the original phrasing produces a better sentence
than any of the alternatives, select choice A if not, select
one of the other choices.

In making your selection, follow the requirements of

standard written English; that is, pay attention to grammar,

choice of words, sentence construction, and punctuation.

* Your selection should result in the most effective
sentence—clear and precise, without awkwardness or
ambiguity.

EXAMPLE:

Laura Ingalls Wilder published her first book
and she was sixty-five years old then.

(A) and she was sixty-five years old then
(B) when she was sixty-five

(C) atage sixty-five years old

(D) upon the reaching of sixty-five years
(E) at the ime when she was sixty-five

o) - YelolG)

: . lura)
1. The graduation speaker advised the&d%_m to devoie
vourself to a few passions and to seek excellence in
ffiose sp specific areas.

(A) to devote yourself
to devote themselves 'P) LLY‘a.‘
(C) to all devote oneself
(D) that gach devote yourself
) for them to devote themselves, r‘ed u.n.clam:a
(A_.C and D) mixture of Per.scmn.l
pPronsun. Pcu nts of View

=36

2. [In 1865 jabelitionist minister Henry Highland Garnet

4.

became the first African American to address the
House of Representatives when he speaks about the
nation’s obligation to protect the rights of the newly
emancipated. -

(A) when he speaks about the nation’s obligation
when he spoke about the nation’s obligation "
(C) swhere speaking about the nation’s obﬁgaﬁ?‘mh&m

(D) whese he gpeaks about the nation is obligatedsnot an

(E) suherehe has 1as spoken about the obligation b adverb
the nation of time.

(A, DandE)incorrect tense .
Although cats have nocturnal vision that is far superior
to that of humans, objects in total darkness cannot be
seen by them.

(A) objects in total darkness cannot be seen by them

(B) objects cannot be seen in total darkness by cats

(C) their seeing of objects in total darkness canno
be done

(D) cats’ seeing objects in total darkness canno mkm?rd
be done rasl n3

they cannot see objects in total darkness
(A-D) exa

les oFunswe. volce

George started saving money when he was six years
old, so by the time of his becoming a teenager he had
enough to pay for a trip to Japan to visit his

grandparents.
(A) so by the time ofhls.bﬂgan.I neorr use ot
(B) so that by the time when he became = J&rwn

so by the time he became
(D) and by the time he would become

and by the time when he had become
( B) incorrect use of subordinate clacse
(Dand E) incorreetr tense

GO ONTO THE NEXT PAGE>



5. The great sixteenth-century Mughal ruler Jalaluddin

Muhammad Akbar turnind his city into ter
learning and jnviting hol TaNOT verbs

different religions to come to discuss metaphysics.

(A) turning his city into a center of learning and
inviting¥ry

(B) tuning his city into a center of learning, and

ments-lack of ind:Pendcnfclam

8. Although natural changes account for the extinction
of some bird species, human actions such as excessive
hunting. habitats being destroved. and predators beine

introduced are more common causes.

(A) excessive hunting, habitats being destroyed,
and predators being introduced
(B) excessive hunting, the destruction of habitats,

he invitedone -}‘-ra.cjm ent Pju_s one }nngemkm’dau_;c and the introduction of predators

(C) turning his city into a ¢nter of learning by

inviting ALL partHciples

(D) turned his city into a center o ]eamin@e invited ,g’gfl?éga_

(E) tumed his city into a center of learning by inviting

6. In her autobiography, Edith Wharton, who was a close
friend of fellow novelist Henry James, included
observations about he and other writers.

)

(A) included observations about e “* i’ -—ab‘j ect of P rep

included observations about him

(C) including observations about him } ack oF i hdﬁgdﬂg
wvs

(D) she included observations about he
(E) shehad included observations about him
(Dand E)superflusus svbject

7. Primatologist Janis Carter arrived in West Africa in
1977 for what she expected to be a stay of only three
weeks, so she remained there to this day.

(A) E9she remained there NOT caw.s2 and effect

(B) there she was to remain= jnicorveet +e nse
(C) there she is remaining $and comma SP'Ilce
(D) where she had remain

@ but she has remained there payrect Use oF Prgsgq]{-o'

-per-Fec’r tense

(C) excesses in hunting, in destroying habitats, and
introducing predators

(D) hunting was excessive, habitats were destroyed,
and predators introduced

(E) ¢hefaet that they hunted excessively, destroyed
habitats, and introduced predators WOKAI NesS

fd;\,(;'and D) lack of parallel cons+ruction

By having allergies thdt flare up in the fall and the

spring causes many students to miss classes at critical
periods of the semester.

(A) By having allergies that flare up in the fall
and the spring causes many students
(B) By allergies flaring up in the fall and the spring
causes many students(A annd 3) lack OF.SLbJEQ‘P
(C) Many students, having allergies that flare
up in the fall and the spring, are caused NON si'qrr]ard
(D) FElaring up in the fall and the spring, many lish
students. have allergies that canse them
@ Allergies that flare up in the fall and the spring

cause many students " .
(DBda.nsh'n modifier- -Flarmg students”
frie

Our parents s have been going
to the same place for their summer vacation

every year for the past fifteen years.

@

@

have been going .

(B) who have been going lack of inclependent

(C) had wen clavse

(D) are goig incorrect tense

(E) go

(A) covvect wuse of present Eer&d‘
+ens

GO ONTO THE NEXT PAGE>
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(X

-

— 5= 5 =5 =

11.

12.

13.

14.

(_.Par{-i ciple
After servin§ ten years as foreign minister, they elected
Golda Meir prime minister of Israel in 1969.

(A) |theylelected Golda Meir prime minister of Israel
(B) |Israellelected Golda Meir their prime minister
(C) |Lsraellelected Golda Meir prime minister

d Go ﬁ%waa elected prime minister of Israel
(B) Golda Meir’sfelection as Israel’s prime

inister was
(A, B.nél:lnfré? exaumples pi-.scgzz :_ces
].3.?_0_?.1?.1_?_9'.10 lenmﬁijl%ss %&:ﬁ‘v‘l}ﬁhﬁaw a‘nd‘ i

-extension of copyright protections in 1998, the status

of a work whose author has died is often difficult to
determine.

@ ofa woitk whose author has died

(B) of a work with the author having died.
(C) of a work where the anthor’s death
(D) when a work’s author had died
(B) when the author of a work was dea

(B-E) weird modification!

Senator Garcia has four children. two of whom have
decided to follow their father into public service.

children, two of whom have

(B) children,fandltwo of whom have |a::k of sentence Lo
(C) children, whereasitwo of them have.s"lsnuis Opposi
(D) childrerCof them, two havingy . 5
. e iNLOrPALT USE &
(E) children; however, iwo having serrucolon
ng thought a ing, they did not

cultivate the tomato widely in North America until the
early twentieth century.

(A) id not cultivate the tomato widely in
North America

B) ]North Amerlcansldid not cultivate tomatoes
widel )

orth Americaldid not see widespread

cultivation of the tomato

(D) the tomato was not widely cultivated in
North America

(&)

15.

16.

"\d-;'mcorveai' +enae

by

ng . . . .
+e nfn ﬁdmon to racing rocket-powered vehicles,

(E) tomatoes have not been widely cultivated in ) NEOYFECT

North America +ense
(A-O) cxam-P\&s of c\:mjlfna madifier

(©

The changes in the city council’s recycling policy has
frustrated city residents. who feel that curbside pickup
of recyclables should occur|week.ly, not biweekly.

(A) The changes in the city council’s recycling polic
has frustrated city residents;‘sj{féae 1'2' e ;é .
(B) The changes in the city council's reiﬁring policy,
they have frustrated city residentss ggg"’g oL
@ The changes in the city council’s recyc g-}:oﬁ'cy
have frustrated city residents,
(D) Frustrated by changes in the city council’s
. recycling policy, city residents|ac kK of i
(E) City residents were frustrated by the change in the
city council’s recycling policy and-

cl

The president of the publishing company said that her
sold more electronic books in the first four months
of 2008 as they sold in all of 2007.

(A) as they sold) “as” i s used Yo note
(B) asitdid S gimilarities
(C) than wassold ‘*yere”

(D) than they havembisuau.s prounoun
@ than jt.did

Kitty O’Neil worked as a stuntwoman, she
performed physical feats called for in shows
such as The Biom'c_‘ Woman.

(A) stuntwomangshe performed physical
feats called for Lomma. Splice

B) s m erforming physical
P?Qm a%&,ﬁﬁed for
stuntwoman, who performed physical

feats they called forambiquous Pron oun
stuntwoman, performing the physical

feats called for .
stuntwornan, and she was performin

called-for physical feats Jask o‘é.sen tence

combining

@
)

GO ONTO THE NEXT PAGE>



18.

19.

i lar

The of Dracula, Bram Stoker’s novel about 20. Lily Dale, the heroine of Anthony Trollope’s serialized
a Transylvanian vampire, far surpassing anv of his novel The Small House at Allington, captivated readers
other novels dealing with supernatural themes. to where they deluged the author with letters pleading
T —— dealing with that he have her marry her admirer, Johnny Eames.
(B) far surpassing {Eé} 0? gﬁy of his other novels that (A) captivated readers to-where-

dealt with : so captivated readers that
© far surpassed thiT 6% 'agﬁ&'lh%r)ther novels (©) becal?se she captivated readers,

dealing with (D) who captivated readers so that lack of i ndcp. Cl.
(D) far surpassed any of his other novels dealing with (E) she was so captivating to readers that
(E) surpassing by far those other novels of his that “Lsvperfluous subjeet

dealt with , (CY™Li lyDale...” i3 lefthigh +dr3! @
(A,Dand Edincorreat comparison of succass*

ig g, i “novels' ;
Exhibitions of sc‘f’o’n’e"whorks‘by mocfem artists
have spurred political controversy over should they
continue federal support of art..

(A) should they continue federal support of art ambi 3 wnous ‘PVOHDUII
(B) should federal support of art continue

@© continued federal support of art PreFo.si tion “over” wi+h ObJ ect ‘s LI.PPG?"]’“
(D) whether art should be continued to be supported

federally wordy)
(E) federal support of att’and continuing@?

-33-

GO ONTO THE NEXT PAGE>



The following sentences test your ability to recognize
grammar and usage errors, Bach sentence contains either
a single error or no error at all. No sentence contains more
than one error. The error, if there is one, is underlined

and lettered. If the sentence contains an error, select the
one underlined part that must be changed to make the

In choosing answers, follow the requirements of standard
written English.

EXAMPLE:

The other delegates and him immediately
A B c
accepted the resolution drafted by the
D
neutral states. No error
E

OeLOO@®

sentence correct. If the sentence is correct, select choice E.

re
21. All along the hicrhwaylf'u -weas- vacant new office

lural (s céer_i@ verb aareemem)

u1ldm0 evidence that the econom¥ boom the area
B
had experienced was proving to be short-lived.
C D
No ertror

E

22. Many of the novels and short stories written by
A

, Saréh Orne Jewett were inspired by everyday life
B

in the seaport town in Maine where st!a

Yol

NEA..S"' a.rhm e #:nrm. a'?'
erTor | res verb “3\"0&.1")

-34-

Vho irace droughts, tornadoes, and

r %
twe—\seﬂ%-gﬂeee or their crops must often work
D

faro.nc! consfruchorﬁ

hours seven days a week. No error
E

23. Farmer:

24, ieav& 115 gploﬁf sc1ence ‘klg:al?ome
(subjeer +verb rzemek&fsm
when hg Wcut to camp lastsummer v ong the

most difficult things that Marek had ever done.

D
‘No error
E
gi wral
25. Both of the candidates running for governor had
A
teacheys

been efore going into politics, yet

(assaciated nouns aﬁraz i1 Rurther)

they disagreed about many issueés 1elated to

public education. No error
E

26. Her latest novel, depicting a young girl’s coming
A ;

of age in Harlem during the 1940s, is even
B C

livelier

rﬂ-efe-h#eher than her earlier books. No error

(two sﬁ“a.ble ad’ eo.hves endm3
with & *y" add*er"+o Fform.
the compParatiNe dcjrce.)

GO ONTO THE NEXT PAGE>
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29.

30.

. Dr. Sandford said that astronomers will

sin u\a.r 1S
The of science has more than rherr

(pronounsentseedsrt

erdog stories, but few

cﬁme.menﬂ

them are

as remarkable as the story of Shuji Nakamura,
D

inventor of the blue laser diode. No error
E .

soon be able to measure distances between the
A B

stars with an accuracy that ten years agé\s %
L »
(correction +0 simple past te e)
impossible. Noerror
E

The word “lanyard” describes a cord to which an
A

employee might attach an identification card, but
B

the word seems sinister when one learns thatitis

C
<erbading
BN

an Old

(correct idiomatic u.sc.ﬂL

Humans have long been inventing tools, and this
A

rench word for “noose.” No error

film documents the amazing creativity with which
B C

tools have been developed through the ages. No error
D

-35-

when3?n views it

(correc-hon

33.

34.

ct

ars seems

\-?ler)

atons,

from Ea.rth th e
(M ;Pa.rhclp
througllt ngonst

asif ina futile effort to escape from the Sun.
c D

to be rushing eastward
B

No error
E

. A casunal observer might mistake a viola for a violin,

A

since they are very similar in appearance, but the

olin
tong of a viola is deeper Ilano%-vgfa' ol €Iror
E
(comparin similar it
+one of Yiola with.tone “of violin)

At the site of a royal tomb in Shaanxi Province, China,

archaeologists have unearthed thousands of life-size

A
terra-cotta statues of soldiers, no two of which are
B €
exactly alike. No error
D

Though The Second World War, a book by

A
u.lgged

feorrect word usajse?) _
when it was first published, itJs not highly
D

GC

Sir Winston Churchill, was

regarded by historians today. No error
E

GO ONTO THE NEXT PAGE>
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Directions: The following passage is an eatly draft of an

essay. Some parts of the passage need to be rewritten.

Read the passage and select the best answers for the
questions that follow. Some questions are about particular
sentences or parts of sentences and ask you to improve
sentence structure or word choice. Other questions ask you
to consider organization and development. In choosing
answers, follow the requirements of standard written
English.

Questions 35-39 refer to the following passage.

(1) We usually think of facial expressions as puiward,
signs of feelings people are experiencing. (2) A feeling, we
assume, causes a corresponding expression. (3) However,
gnundbreakmc research by psychologist Paul Ekman has
shown that the opposite is sometimes true, (4) Making
a particular kind of face, it turns out, can actually canse

someone to experience the emotion associated with that
expression.

(5) Ekman needed a precise way of identifying commo

36.

Whese in the passage would the following sentence
most appropriately be inserted?

ﬂ?&%ﬁfﬁ: a?mmwed brow is identified as Acfion

I?mt 7, adr opped Jjaw as Action Unii 26, and so for 50 forth.
1: ncd wmerical des \anaj'ions

A) mmediate
Immediately after sentence 6

y after sentence 3
%
(D) Immediately after sentence 12

Immediately after sentence 5
(E) Immediately after sentence 14

Which of the following phrases, if inserted at the
beginning of sentence 3 (reproduced below), would
best link the first and second paragraphs?

Ekman needed a precise way of identifying common
facial expressions.

entio
It was now obvious that
researchr&) .

(B) Because of-these-limnitations,
(C) Eersumilarreasens,

@ [n order to conduct his research,
( Basedonthoseresulls,

facial expressions. (§) He painstakingly catalogued the 37. In context, which of the following revisions to
muscle movements that pull our facial features into various $irst sentence 9 (reproduced Below) 1s most needed?
corfigurations, giving each of these “Action Units” a ————
distinct numerical designation, (7) Ekman’s Action Unifs ""‘;";:' :Qré{mil& therefore, is quite complex.

in complexity} (8) A wink, for example, involves o

‘the

(9) A smile,
identified 19 kinds of smiles, each engaging a slightly
different combination of many muscles.
(11) Ekman catalogued the various facial expressions.
(12) He began to study their physical and emotional effects.
(13) Participants in the study were asked not to express
specific emotions but rather to produce particular Action
Units. (14) Ekman found that when subjects produced
an Action Unit associated with anger, their heart rat
increased and their fi fingers became warmel became warmer. ‘When they
produced an Action Unit associated with fear, their fingers
hecame colder. (16) For that reason, Bkman concluded that
a facial expression can be the cause, as well as the effect,
of an emotion and its associated physical state.

twitch of g{agmg Te muscle|that wraps around the eye.
A smile, therefore, 18 %uite cggg!ggl (10) Ekman

(A) Changing “A” to “This kind of ”
Changing “therefore” to “by comparison”
(C) Changing “is” to “canbe™
(D) Deleting “quite”
(E) Changing “complex to comphcated”
(B)“quit+e compler’ comlxu-c
with *si jlc

GO ON TO THE NEXT PAGE




38. In context, which is the most effective revision

of the underlined portion of seatences 11 and 12
(reproduced below) 7

Ekman caralogued the various facial expressions. He
began to study their physical and emotional effects.

(A) Ekman catalogned the various facial expressions
and he began

(B) Ekman stesd catalogued the various facial
expressions before beginning

(C) Beeause-he catalogued the various facial
expressions, Ekman began

(D) Adthensh-he-had-already-catalosuad-the-varions
facial expressions, Ekman began

Once he had catalogued the various facial

expressions, Ekman began

Cambine sentences ina u.md

‘o EXPrus G. SE%u_e_n;e
oFf events.

1l

39. In context. which of the followine n s would

most appropriately be inserted at the beginping,
OF senfence 15 (reproduced below) ?

When they produced an Action Unit associated
with fear, their fingers became colder.

@ In contrast,

(B) In other words,

(C) Meanwhile,

(D) Unfortunately,

(E) Aboveall, |

(A) “colder” is a. contrast

+0 “warrmer? @

STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section in the test,
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